~

45°'lik ahsap parca
45° woodspgrg <

45°'lik J_hgap parga

45° wpod part

-
-
%E
N
| o
(9N . <
(o 45°'lik ghsap parca > h
f) 45° wpod part > 459tk ah
¢ + (@] H45° vlvogdspaaprtparga

ZEMIN/FLOOR ZEMIN/FLOOR 1

63

45° lik yuzeyler
Ust Uste gelecek

45° lik duvara
monte parga

45° lik kesilmis
ayna arkasi

N2

45° lik parganin o6lgi
alinacagi ALT NOKTA

v

45°'lik ahsap parga
45° wood part

4 Adet 6x80 vida ile aski aparati sikilir. Ayna aski aparatina takilmadan dnce led led sortisini priz boglugundan gekilir, ayna asilir.

The suspension bracket is must fix with 4 pieces of 6x80 screws. Before the mirror is attached to the bracket, pull the led led outlet from the socket space and hang the mirror.

3

Te

4 Adet
M8x16

AYNA
MIRROR

KUMLU AYNA/MIRROR

AYNA
MIRROR

KUMLU AYNA/MIRROR

2 Adet > o o —
M8x20 ZEMIN/FLOOR ZEMIN/FLOOR

Ayak basma borusu 2 Adet M8x20 civata ile sikilir Led trafo baglantisi yapilir.

Ayak basma,yan lamalardan gévdeye 4 Adet M8x16 civata, 4 Adet kapali somun ile sikilr. Tezgah tablasi 3 Adet 4x35 vida ile sikilir.

Footrest must fix with 2 pieces of M8x20 bolts. Led transformer connection is made.

Footrest must fix from the side blades to the body with 4 M8x16 bolts and 4 closed nuts. Unit shelf must fix with 3 pieces of 4x35 screws.
URUN ADI: TARIH: R ) .
Name of product: | NOIR WALL BAYAN TEZGAHI_ MONTAJ SEMASI / ASSEMBLY DIAGRAM Date: gLZ?n:JtsEtﬁndzmn S:ﬂ?ﬁ;ﬁ dn
CIZEN: : i Measurements are in cm. -
Besigner Sibel MERIC 25.01.2021




